SECTION 2 | Test 9
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3 600+70+6=
4 145cm=m oem

5 O9x2=7 x6
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-7+ How many days in June? |
8 f014="1p
19 96+8=

(7x4)+3=

1 Add together 3p, 6p and 14p.

2: 6x8= tens “ units

1By how many centimetres is
7m longer than 38cm?

Find the missing numbers.

329 = & tens i units

Increase £1.07 by 3p.

What number is 20 less
than 6007

Complete this sequence.

12, 41 42
3 3r1r‘}3;131':'-'

Share 28p equally among
four people.

9 How many minutes from five
to nine a.m. to twenty past
nine a.m.?

£1.00 is worth four 20ps
and . p.
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__25min
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Schofield & Sims

Jo has five bank notes of the
same value. She has £100.
What value is each note? £20

Which coin has the same
value as £0.057

What number when divided
by 3 gives 9 for the answer?

By how many kilograms is
bag A heavier than bag B?

132 children each give 1p to
the school fund. Write the
total as fs.

At what measurement is

- the middle point of a line

of this length?

25cm

et

_5p

27

_18kg

et

By how much is 95p less
than £1.05?

If the date of the first Monday
in January is the 6th, what is
the date of the fourth Monday
in the month?

- Which of these parts of a cake

is the largest?

1 1 1
4,2 003

10p

. 27th

|-

This is a row of stamps.
How many are there in
a sheet of eight rows?

48
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24-8= 18 T
34+39= &
(6x8)+4= .52

Tmd4ddcm = = cm

10x4=8x - -

£1.00 + 6p =

Three-quarters of 1 hour
= = minutes

24+ e =8 . 3 :

5x0=6-: I

How many tens in 4007 40 o

Divide 42 into 6 equal parts.
Find one part. Y

Find the product of 9 and 4. 36

From £1,00 take 12p. . 88D

What number is 10 more

than 1927 202

One 50p + = 5ps = £1.00

Complete the sequence.

115,110,105, 100, . 95

?y how many centimetres Is
7m longer than 26cm?

Write in words the time that is
three-quarters of an hour after
ten to eight in the evening.

_ eight thirty-five p.m,
{or twenty-five to nine p.m.}

What is the value of the digit

undertined in the number 3677 .~ 60 |

_ 144cm

£1.06

45min

_105ps

~.24am

SECTION 2 | Test 10

In a dass there were 26
children. Eight of them were
girls. How many were boys? U | -

Which of these lines is vertical? C
\D
C

By how much is the largest of
these sums of money greater
than the smallest?

| £0.96 £110 £098 £1.07 14p

Write the name of the shape

that is the flat face of a cone. _Circle

Name the month of the year
that comes before August. July

How many 5ps must be

added to 80p to make £1.00? 4 5ps

20 people can travel on a
minibus. How many buses are
needed to carry 100 peopte? .5

What is the cost of 13m of
material at 18p per metre? Y ¢

@

© Shenaz has one 50p and eight

1ps in her purse. She spends
39p. How much hassheleft? _ 19p

The triangie
has three
equal sides.
' The total
\ length of the
sides is 12cm.
What is the length of one side? . 4cm

j




